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Answer all questions using appropriate accounting treatments prescribed by IFRS. Answer the

questions in the order they appear. (FF{I% IFRS ZH EEEFTHEE » WIRERHFES )

Use the following tables if required present value factors are not given by the questions.

PRESENT VALUE OF 51
periads 1 2 3 4 5 6 7 3 g 10
3% D.970874 [ 0.942596 | 0.915142 | 0.588487 | 0.86260% | 0.837484 | 0.313092 | 0.789409 | 0.766417 | 0.744094

4% 0561538 | 0924556 | 0.888996 | 0.854804 | 0.821927 | 0.790315 | G.759918 | 0.730690 | 0.702587 | 0.675564

6% 0943396 | 0889996 | 0.839619 | 0.792094 | 0.747258 | 0.704961 | 0.665057 | 0.627412 | 0591898 0.358395

8% 0925926 | 0.857339 | 0,793832 | 0.735030 | 0.680583 | 0.630170 | 0.583490 | 0.540269 | 0.50024% | 0.463193

PRESENT VALUE OF AN ORPINARY ANNUITY OF $1
periods 1 2 3 4 5 6 7 8 9 10
3% 0970874 | 191347 | 2.82861) | 3.717098 | 4.579707 | 5417191 | 6.230283 | 7.019692 | 7.786100 | 3.530203

4% 0.961538 | 1.886085 [ 2.775081 | 3.629895 | 4.451822 | 5242137 | 6.002055 | 6.732745 | 7.435332 | 2.110896

% 0.943396 | 1.833393 | 2.673012 | 3465106 | 4212364 | 4.917324 | 5.582381 | 6.209794 | 6.801692 | 7.360087

2% 0.925926 { 1.783265 | 2.577097 | 3312127 | 3992710 § 4.622880 | 5.206370 | 5.746639 | 6.246888 | 6.710081

1. (10 points) CJS Limited bought a new office building at a cost of $20,000,000 on January 1, 201} and
adopted the revaluation model. The estimated useful life of the equipment was 40 years and the
estimated residual value was zero. The company used the straight-line method to account for
depreciation. On December 31, 2014, the building was revalued with a fair value of $16,020,000. On
December 31, 2015, the company believed that there were indicators suggesting that the building
suffered from an impairment. The company estimated the recoverable amount to be $14,700,000 at the
end of 2015. On December 31, 2017, the company believed that there was a recovery of the building
value and estimated the recoverable amount of the building to be $15,000,000. When an item of
property, plant and equipment is revalued, the company eliminates accumulated depreciation and
restates the net amount to the revalued amount of the asset.

Required:
Prepare necessary entries related to the above events for CIS Limited for December 31, 2014 , 2015 and

2017,

2. (12 points) Worderafter Corporation began construction of a new office building on January 1, 2014.
The construction project was expected to complete in two years. To finance the project, Wordcrafter
borrowed $525,000 from the bank on January 1, 2014, The $525,000 was a 10-year, 12% loan, paying
interests on December 31 of every year. Worderafter had the following debt outstanding on J anuary 1,
2014 that is not directly associated with the construction project.

s 12%, 5-year note payable of $150,000, dated January 1, 2012, with interest payable annually
on December 31.
s 8%, 10-year bond issue of $315,000 sold at 92 on January 1, 2013 when the market required
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an effective rate of 10%. Interests were paid annually on December 31,
The payments made by Wordcrafter to the contractor are as follows

January 1 2014 $315,000
March 1, 2015 $601,650
February 1, 2016 $94,500

The unused funds from the specific borrowing were invested in a fund yielding a 10% annual rate of

return.
Construction workers went on strike over wage dispute at the beginning of October 2014, The

construction came to a hait for 3 months due to the strike. The construction work resumed on January |,

2015. The office building was completed on March 31, 2016 and was occupied on September 15,
2016 (Round your calculations and answers to two decimal places).

Required:
(1) Determine the interests to be capitalized in 2014, 2015, and 2016, respectively.
(2) Under what kind of circumstances can a company capitalize the interests incurred during the a

temporary halt of construction? Describe and give a specific example.

(18 points) Kostco company purchased the puttable convertible bond issued by Sammy's enterprise at
92 on January 1, 2011 and incurred a transaction cost of $9,200 on the same day. The key features
about the bond investment are as follows:

* 31,000,000 par, zero coupon rate, matures on December 31, 2013.

» the bond investment entitles Kostco to put the convertible bond back to Sanimy's at 102 on
December 31, 2012, The puttable right/put option expires if Kostco chooses not to put the bond
back to Sammy's on December 31, 2012,

e the bond investment also entitles Kostco to convert each bond into 10 shares of Sammy's common
shares.

The embedded pﬁt option and conversion right had fair values of $6,500 and $7,419, respectively on

January 1, 2011, Kostco decided to classify the main contract of this investment as available-for-saie

securities. _

The entire puttable convertible bond had a fair value of $980,000, and the embedded put option and the

conversion right had fair values of $£9,800 and $10,200, respectively on December 31, 2011, On

December 31, 2012, the fair value of the pnttable convertible bond increased to $1,020,000 and fair

value of the embedded put option and the conversion right were $11,000 and $14,000, respectively.

Reguired;
Based on accounting treatments prescribed by IAS 39, prepare all entries related to this investment

for Kostco company from 2011 through 2013 assuming;

(1) Kostco company sold the entire puttable convertible bond back to Sammy's enterprise for
$1,020,000 on December 31, 2012.

(2) Kostco converted the bond into 10,000 shares of Sammy's common shares on December 31, 2013
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when Sammy's stock price is traded at $105 per share, The fair value of the entire puttable convertible
bond was $1,050,000 and the fair values of the embedded conversion right was $50,000 on that day.
Kostco classifies the investment in Sammy's common shares as available-for-sale securities.

4. (10 points) The Fair Case Corporation issued $600,000 of 8% bonds on January 1, 2009 for $632,308.

The prevailing market rate is 6% at the time of issuance. The bonds were payable in three annual
$200,000 installments beginning December 31, 2010, paying interest semi-annually on June 30 and
December 31. On April 1, 2011, the bonds due December 31, 2012 were redeemed at 107.

Required:
Prepare the journal entries to record the bond retirement on April 1, 2011 assuming (1) the corporation

used the bond outstanding method of amortization; (2) the corporation used the effective interest
method of amortization.

5. (IS4) WFSABA B » BRASIEE (583 5)
MY 2ARX2FNRE-FALHE  HEZFERL » T 018 A9400,000 » Zibia i Hhde T
X2 & X3 % X4 &
EHETBILAEL $120,000  $200,000 $ 50,000
E 2RI B ERARS 230,000 89,600 0
BETFRNRARTENEEITRIEE » B3 X3 FEEREHNIEERAET?

(2) T2xd X2 £HAEHA 551,000,000 » X2 54 BB LIHEIER | —FER BRI T
EERRBRME]AII0,000 5 5 —A 4 & BERRB AL + BASARE & T £98$90,000 -
BRREE 17%  BAETDE X2 £ RAMEHERZHH -

) AXARLAX2E1A 18 > MEPTEERSHBERNE AT

X224 X34%
& BIRE AR A $560,000 $672,000
HRE 3% 3%
ALRMRTBRY S 4% 4%
AHRER 448,000 540,000

FX2ERXE FHRINBE EERBEMNEREE MAAT X3 FRBIRKE & Rk
FHET?

(4) TREARXIE1IA LB EGRLNARA—HHE sl NG 7845 5-845,000 132 4 4 A, R 35,000
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HEGADAXDPEEEA  BHEBRBEAFERBRT TR - ShoRBANHE RS
% 6% HBARGHESL 5%  BAHRBAM « 2AFHE B ReETLHHE S%E %HRL
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(5) Pard X242 X3 FRtfiR& 4T o488
OX2 £ & — K7 K %H45330,000 » 3% % A 544$25,000

@X3 £ K —#RF REAES10,000 » 474 % A 154538,000
BRFFAREREMNER BT AAN X2 R X3 FHRERAN LS JHAAN X4 Eagn
SR A2 B E S Sk BT ? '

6. (154 » RARHREE JASI9 2 RM4R)

LRANK2ELA | BAARATHEA2ZAAM%  @EE$500,000 » B @A 2R FHH £IGH 4% »
FH 12830 B4 > BIA S X7 £ 12 A 31 B « B4 2 BB 5555 & RS 8 3 54 R A
B LAARHARTAMRITRAMN X3 SR THMRAR - FM 8 X4 SE5M
BB A £.813,500 » 2] #8754 g5 © A& £:$400,000 »

ArakFLAARES X2 £55511,288 - X3 £ £$378,320 » X4 - JE$502,000 0 34 H X4
FREEREXHFHRAEFBE

WA (WRAAIRE )
M#FTXARAREAL AR JRATBAGRE EHEART B

QLA X3 £ BRFIMBEERTF ?

@FIF LA 3 X4 £RBIIA LMD A B2 E AR o

Ox LAt Hx A8 5% AN X4 EERBTRBEBFBLT ?
@QFCLRAFMBAZANAVEFIBLELF LI ART > 8]

QLA X3 EBBARBAALT?

QT AT X4 £ R BBFFIF A EE T ?

(Pas5=3.629895 » Py50,=3.545951 + py45,=0.854804 » py 50,=0.822702)

7. (20 %)
TRAX2EDNAAARA X EESRLRBAE LM BRI Fdo T !
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